M251 Practice Exam 2 7.1-7.3 & arc length
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2. Find the indefinite integral.
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5. Find the indefinite integral. ’%—)—7) 4=zt L‘i?’@n ) €

Find the indefinite integral. -
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6. Find the indefinite in 1 '
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7. Find the definite integral.
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8. Find the definite imtegral.  __——— used 4(17-8)=36
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9. Find the mdeﬁmte integral. W _wy ) —
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10. Findthe indefinite integral. P
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11. Find the indefinite integral.
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12. Find the mdeﬁnite integral. _,3%92'_‘ —6 Iy dy R _3@,,[ X):; Iy [-dx
w= é@\«x) dv=3x Jx NED 48t dv= C’X = -3&”’):6,&’0'_ é{,
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13. Find the indefinite integral. N _ z
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14. Find the indefinite integral.
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15. Find the indefinite integral.
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16. Find the indefinite integral. %2 z 2 L5 L2 (&
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18. Find the indefinite integral. je Sin budw L
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19. Find the definite mtegral

x/5
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20. Find the definite integral, —_ iy ) 5
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21. Find the indefinite integral. 8 ! _20 g, 320
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22. Find the indefinite integral. +
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23. Fmd the indefinite integral.
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24. Find the indefinite integral. K(A L{‘/Jl«,
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26. Find the indefinite integral. J o |+ co520x J)(
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27. Find the indefinite integral. g 2 ¥ = + S')Jo——_ T
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29. Find the indefinite integral.
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30. Find the indefinite integral. (A= S1N B
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31. Fmd the indefinite integral .Z\‘ SIne = S B\
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32. Find the indefinite integral. /
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33. Find the indefinite integral. ___\ ”50'(- lA)cl w— §%
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34. Find the indefinite integral. —————__ +
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35. Find the indefinite integral. > %
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36. Find the indefinite integral. ulle = 2 e = 2€€ X
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37. Find the arc length of the graph of the function y = 3x2 +2 over the interval [0, 12]
12~
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38. Find the arc}length of the graph of the function y = 18x” +6 over the interval [0,7) P
/ -72 2 =
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39 Fmd the arc length of the graph g7f the function y =%x3 +10 over the 5(nterva1 [1,512]. ;‘:56,5
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40. Fmd thearclength of the graph of the funcnon y-—l-g+i§1-7 over the interval [1,2].
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42. Find the arc length of the graph of the function x
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%@—3)\/} over the interval
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